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FEREBERAEH
( YNEFSNEAMEEHR SN2 78 RKBRE
Hh X i = &t HEHR ik
(224) (227) (451) (288)
*F &5 5,063 5,104 10,167 3977 202
(208) (305) (513) (294)
I &R 3,092 3,089 6,181 2,490 114
(153) (174) (327) (224)
A 2,938 2,929 5,867 2,213 109
(103) (149) (252) (157)
i 2,965 2917 5,882 2,303 79
(43) (132) (175) (149)
X I 705 773 1,478 620 20
(WS EAER) (731) (987) (1,718) (1,112)
gt 14,763 14,812 29,575 11,603 524
AODERE
(729) (988) 1,717 (1,115)
HIADOAD 14,743 14,816 29,559 11,583 524
(2) (-1) (1) (-3)
1 H 20 -4 16 20 0
BEIORR
HE B EEA ERH F DD 1 R
(3) (1) (13) (13) (-1)
22 20 90 79 3




SM2ETR S AOOEE (FM2E7ARBRAE)

HEH (BB B Rl & |#E| & |BE| 8% |EE

L8 575 4 711 6 716 1 1,427 7 24 0

X0 657 -3 ggl| -2 904 -4 1,785 | -6 31 0
#T 194 -1 241| -3 254 -2 495 | -5 12 0

i/ 575| -5 705 -10 737 -1 1442] -11 29 0
E5 g m 722| -3 883 -1 810| -3 1,603| -4 30 0
i3 534| 4 719 5 722| -2 1,441 3 34 0

ik 476 -1 615 2 650 -2 1,265 0 32 0
AR 244 0 308 0 311 - 619 -1 10 0
55t 3977 -5 5063 [ -3 5104 | -14| 10,167 | —17 202 0

E#A 981 3 1,207 4 1,164 -3 2,371 1 34 0
T 47711 6 619 8 560 0 1,179 8 20 0
AL 234| 3 253 -2 293] 2 546 0 7 0
g |EE 112 0 159 0 154 0 313 0 6 0
FGeh 144 170 -2 197] -3 367| -5 8 0
#am 294 -1 376| -2 385 0 761 -2 16 0
B 248 -1 308 -4 336 -t 644 -5 23 0

NI FE 2,490 9 3,092 2 3089 | -5 6,181 -3 114 0
Gl 455| -3 573 0 580| -1 1,153 | -1 25 0
oy AR 721 0 910 6 860] -3 1,770 3 38 0
HET 1,037f 5 1,455| 8 1,489 6 2944 | 14 46 0

5 Rt 2,213 2 2938 ] 14 2,929 5867 | 16 109 0

1 676 -1 895| -2 902 2 1,797 0 28 0

2 931] 9 1,128] 8 1,069 5 2197 | 13 26 0

x| 5 6200 0 705 0 773 3| 1478| 3 20| o
5 696] 6 942| 1 946] 3 1,888 4 25 0

JEXE 2923 | 14 3,670 7 3690 13 7,360 | 20 99 0
28 |agt 11,603 | 20| 14,763 20 14,812 -4| 29575| 16 524 0




